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Intro

Today we will 7”va learn 175 q7 of nm2> noon. ’1l,n an

The topics we will learn about include

757 DR
If someone certainly transgressed an A1 N30 O'N, he
must bring a nxon 127p. If it's a poo whether he

transgressed an 3wa N30 OR, he brings an 75N DwR. ﬂ*’:’: N:,, NB

1572 rp R RY

A o may not marry a Jewish woman. 1 h Bh?:

A ndn may not marry a Jewish man.

MNP APY? 12 NYHR 27 MWD

The statements of 37y 12 TY*>R °17 are few, but clear and
. precise. Therefore, in a Machlokes, the Halachah follows

the opinion of 2Py’ 12 7"YHR 2.

PRI POY 1IN KRR n:wn
The burden of proofis on the claimant.
2PY? 12 TYIOR

”)/,D/’)

172NN RININD
NP°R90 1YY
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So let's review

The Gemara explains the Xo°0 of the Mishnah:

NORIZ VYN 12 PO0

PINRS YW 12 OO

Ifa viable child is born at a point where it cannot be
determined whether it's the child of the 5v3, born after
nine months, or it's the child of the b1’ born after seven
months;

NOXY

W T

75N DWRA P

They must separate, and bring a Korban poo nmnn -
because of the possibility that it's the child of the Sv3, and
she’s 10X to the Yavam because of Dipna ROw IR DWR
M.

However, the child is perfectly legitimate - as Rashi
explains;

Jwo1 N - either way:

Ifit's the child of the bv3, it's legitimate - the Aveirah of
the unnecessary Yibum does not affect the child. Ifit's the
child of the Yavam, it’s legitimate, because the Yibum was
necessary and valid.

The Gemara questions the ruling of

75N DWRA P -

They should be obligated in a X7 nxvn based on 2177
DWI A1 IR TN RS

172 Mywnb 0w 17

Since most women give birth after nine months, the child
should certainly be considered a pwxa5 nywn 13, the child
of the 5v3, which makes the Yibum a

WA NI NOR RT?

The Gemara answers that this is counter-balanced by
another 217, that of

wnS mIorn an

T WOHWY 131 7171

Most pregnancies are noticeable after three months -
1 WHWY 193 RYTH R

R217 775 VIR

The fact that in this case it was NOT noticeable weakens
the first 1.

Therefore, to the second 217 we add

172 vawh v

Some give birth after seven months -

And, to the first 37 we add

wNS MY VW

T WHWY 321 772 PR

Sometimes it is not noticeable -

This leaves us with an even poo - Hence the n5n ow.

'f'j/é/‘/

neNah Ipwn 13 peo
NAmNS mpaw 12 pod

"WoNOWRI AN WO TM Ny

/)&0/)/'//1/‘/ ) PENGE
DYE/% P V2

2

%Wu//éex aé@afe/ma/

) AOD...
0°W1 217 INR 1PN RN
2179 NYWNY DPWI M

Which makes the Yibum a
O 461l 2> A £

This is counter-balanced by another ...

M M=

oW nMYWNHY M N
nwny 9571 N2

1T MM WHLVH

25/ tg/\/ ol
o O/t

AR/ D’/ Vot

VYN VYN
nywnY MTorN nY2WY
952 N2 PR Y79

N WIYKVWH

This beawes ub withs arv ever poe
Hence the 1ls pt&
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The Gemara proceeds to discuss the status of a second
child, in the event that the Yavam and Y evamah remain
married:

N

5173 1799 P IR POR

As explained earlier, the first child is perfectly legitimate,
to the extent that he’s even fit to become a Kohen Gadol.
POON NN IV

AN APV 12 WYOR 2T

POON WM PR

The Gemara explains that both the xnp Xin, AND 29
2pY 12 M'HR agree that the second child is a 3w pov.
Why?

If the first one is pwRI% YWD 13, there was no Yibum, and
the second child is a product of mx» TP ROV IR NYR,
which is min1>°27m, and therefore a Mamzer.

If the first one is INR> 7Yaw 13, there was a valid Yibum,
and the second child is perfectly legitimate, and NOT a
Mamzer.

Dedicated By:
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The status of a second child
if they remain married:
12710

NN
5V 1710 P MNY

v 3N

3Py 12 Mo 3n 13D NI

DROM MM PN PEOM A

ALL AGREE:
The second child is a 911 poo

Ifthefirst child is
PWRIY NYWN |2
there was no Yibum,

the second child

is a product of
NIXN DPN2 ROV NX NOXR

he is a Mamzer!

Ifthefirst child is
PWRIY NY2W |2
there was Yibum,

the second child
is legitimate
and NOT a
Mamzer
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The Machlokes of the X Rin, AND 3pp 12 bR 27 is -
Who can this 711n poo marry?

The Posuk says;

157p2 WP R RY

A o may not marry a Jewish woman.

A nWn» may not marry a Jewish man.

The Gemara cites a Machlokes in pywy7p noon:

TN TYOR 27

AN IRTIIRT

A “w» may marry a 0o, or one of the other o509,
because they are not considered 11 57p". However,

OO IR

IRTI2 PO

[z2ieaRphalel

TNOR

A W poo may NOT marry a nawn, or one of the other
9109, because maybe he’s NOT a Mamzer -

And, he may not marry even a N1 poo, because, as
Rashi explains, maybe one IS, and one is NOT a Mamzer.
And 17 said;

MYOR 377 71957

However, Sxmw said;

W 550

52215 PonY 7IWY...

a7 R3S PID

The Halachah follows the opinion of Hillel;

A nnn poo MAY marry a ninn, or one of the other
9109, because

290 5P ROVRTY SR

A Mamzer is only 77OX to marry a 9w3 °XT, but he'’s anm to
marry a w3 pov.

To summarize;

TYHR 727

And

27 hold that the 9v» poo may NOT marry a naimon.

557

And

SRpw hold that the 3 o0 MAY marry a nwmn.

Now, for the opinions of the Xip X, AND j2 105 727
Py

FtYHNR 72793 1957 MORT 270 712 120 X1

Since Rava follows the opinion of Rav,

RMO57T RIOR 2PY’ 12 WYOR 27372 72 P

He prefers to interpret the Machlokes so that 12 3198 727
2pY’ holds N2 MONR, as is the Halachah, and the xnp Rin
holds ntmma .

55713 1957 IPRT HRIDWI 715 720 7R

Since Abaye follows the opinion of Shmuel,

RNO57T RIOR 2PY’ 12 WYHR 2772 900

He prefers to interpret the Machlokes so that 12 3158 727
2pY’ holds nammna 9y, as is the Halachah, and the Rip Rin
holds natmia MoN.

The reason Abaye and Rava both want the opinion of 29
2pY? 12 M'HX to be in agreement with the Halachah is
RNO5IR RN2OM WPN RYT 7 7,

Because we have a principle of

M AP IPY? 12 NYHOR 127 MWD

In a Machlokes, the Halachah follows the opinion of *27
2PV 12 MYHR.

MACHLOKES:
Who can this 7mn poo marry

M 55nm

<3/ 6/)
/')aa 5/') ,!:[

SRHWY
551 NN

pliaiakyle)
piglle)
ailtalak]

5XMWI NY 720 MR
55n5 Na5N MRT
N2 oM
2PY? 12 TYHR
RIOONT RHR

Nan TYHR 229
RPP 2Py 12
WRADPOD WA PED
MON mialial
fpplialal= Ny glnliatal]

W APON 139

W@r@ not

v}) 6/’)

1PBOD INT

INTY2 PR

1PBO2 (PN
Mo

20
YR 1270 NOON

Ot pad
NON
apltalak]

27D NY DO RN
ITYHR 1270 NOHN NNRT
N oM
2PV 12 7TYHR 2ITH
RNOONT RHX

Nan YHR 127
) apy? 12
MVADPHD M PO
talle NON
namana namana

RNIYIR RNIYN *WPN RHT 170 D

2PY? 12 ATYIHR 227 MON

DafHachaim.org
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Tangentially, the Gemara cites the following statement:
APY? 12 WYOR MR 5V

N APTHITVUR DTR XY’ KD

TIAR APTHI VR RWM 1M

O NIV RDW

AR DR RWI NR R3O

One shall not marry one wife in one land, and a second
wife in another land, because their children, not being
aware of each other, might one day meet up, and a brother
might marry his sister.

In the case of 27 and j»m1 17, who when travelling,
ROYH RIM IR DN TIDOD
Would seek to marry for a short while -

This concern does not apply, because,
MIHPY YPOT 12T IRY
They are well-known.

RIYR VIR
MO THT RITRHOYTIN 3277

1902 ND 15 VW M AMTIPR I WORT
19021915 PRY DS

They did not consummate the marriage.

DafHachaim.org

PV f 7;}’% 2 M o i 2
T NPTH2 NWR OTR RWY R
NINR NPTN2 NWR RWN PO

Y NTINT RDY
IMNR IR RW NRXR RPN

P

2 and)pny 1,
when travelling,

ROMYH RN TR AN 100D
Would seek ty marry /ar w short white?

1NMNW VPOT 127 NIRY

They are well-known

RNHY2ITIN 1279
N9 ITNMNT RN

M N
oD 1D 1D B 0 YT N
902 np 1D PN 1
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The Gemara proceeds to discuss questions of nv1,
inheritance, in a case of

PORIY YWD 12 P90

NINRS IYaw 12 poo

The general order of w17 is as follows:

The children of the deceased are his heirs. Only if there
are no offspring do the brothers of the deceased inherit his
estate.

We also learned above on 75 97, that in a case of Yibum,
the Yavam, the brother who performed Yibum inherits
the entire estate, and the other brothers do not share in it.
In our situation, the Gemara asks about various cases;
One -

RIMP 70313 PI7N5 IRIW DI POO

The child, the pov, and the Yavam argue over the estate of
the nin:

RI77 RITPD 72 RIX IR POO

NI7°77°000

The child claims to be the child of the n», the rightful heir.
DIRPTTRII DR IDN DI

OO RN T I

The Yavam claims, you are my child, and since I did
Yibum, I am the heir.

7901 Sonn N i

PPN pov2 Yo P

This is a clear cut poo, which they must divide equally.

Two -

RITP1 0232 PI5NY IRV D2’ 321 OO

The child, the oo, and the two sons of the Yavam argue
over the estate of the nn:

Apparently, the Yavam died before the estate was
distributed.

R177 RINPD 92 RI2) RITT IR POO

R177 77000

The child claims to be the child of the n», the rightful heir
to the entire estate.

DRIPIR DR IOR 02712

1772 75 TPRT RIT RO

The Bnei Yavam claim, you are our brother, a son of our
father the Yavam. And since our father performed Yibum,
thereby inheriting the estate, now that he died, you are
entitled only to a share among us brothers.

DafHachaim.org

e
inw case of
MRS PR 2 peo
namnb mpaw 13 peo

The Gemara asky
about various cases;

1
02" PO
RINH 20312 7HNY INRIW

7/1/)6/013’/ 7/‘4&/’)&0
DR Y777 "R12 NR R1N RINM 72 RIR

18 2 2 /2
Y Y oon (el
TN RN RN 7T

*D112

D02 VN PHN N

PD02 YVMWN PPM
PPN

2
02’ 7221 POO

RINM 0512 P1YNY NRW
W PR YD WE pOo

R X922 RINN

IR IPNR RIN RINO 92

RN XM Y777 Y001
17N2 9% MORT RN
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. In this case,
POV ITRITR
Each one’s claim is a poo, and therefore the resolution is
as follows: | (7DD YTIR) YR
For example, there are two brothers and the poo: The oD
The poo first gets one-third which is certainly his, even if €] ' The other
he's their brother. The other two-thirds is pooa Svwsn pmn gets one-third two-thirds is
PPN, Therefore, the poo gets half of that - one-third, and which it certai his )1a)5)
the two brothers get the other half - one third. The poo L hori )
does not share in their half, because his share is in the even % @1 7902 20N
two-thirds he already got. brother ]’p';'m

ThepoD The 2 brothers
gets half together get half
one~third one~third

Three -

. 913 D27 'DI12 PIPNY INIW DI’ 32 POD 3
The pov and the sons of the Yavam argue over the estate
of the Yavam: 21515 1R2W 02 7121 PHO

%R OnAT n:’ ’DDJ:

DR RIART PRI NN

W) n’913

The poo gets nothing, because of

PRI PHY 17NN RIRIDA

The brothers can say, prove that you are a son of our
father.

Y "R ONNT
NR RINXRT NWRI "N"MIR
NP

The poo gets nothing
Becauwse g
D> /'/7 12790N EZIND

wp |
NPT
Vecheska
Dedicated By: DafHachaim.org Yevamos 37-7
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Four -

D2 °0212 Y% IRIW 02 °33) POD

NI 70313 02 2997 N2

The poo and the sons of the Yavam argue over the estate
of the Yavam, after the Yavam took half of the estate of
the n», as in the first case:

Rashi explains that we are speaking of where the estate of
the Yavam is substantially larger that the estate of the n».
VN DD ’12

51171171 DR RIORT PRI DR

The brothers say, prove that you are the son of our father.
However,

1D7WOI AN POO 1D IR

The poo can claim;

RIR JIDINN R

197772 RO Y 137

IfTam your brother, give me my share among you - and
Rashi adds, he will have to return the half of his father’s
estate he had taken earlier.

RIR NN 21N

RT PR AOT RV D137

IfTam not your brother, but the son of the n», you must
return half of the estate of my father, the n», which your
father, the Yavam, had taken earlier.

This is actually a Machlokes:

299K NIR

N7 Op

The earlier division of the estate of the n», by the poo and
the Yavam, stays - we do not undo it. Therefore, we now
deal only with the estate of the Yavam - to which the °12
D2’ can say

51171171 DR RIORT PRIOR

RIT T WOR PO

The earlier division is undone, and the D2’ 12 must satisfy
the claims of the poo. They must either give him a share in
the estate of the Yavam, or return the half of the estate of
the nn.

The Gemara on the next Daf continues with additional
cases

DafHachaim.org

4

02 %121 PO
02’ Y0312 PMYNY RIW

0’ 2957 IN2H
NINN YDO12

120D] NN

W PR Y
NIRA IR
NR RINXRT
RIR OINR R PATPAY
RNIN 25120

1977N2

RIXR X1 792 °N)
X299 " 120

012X 2507
IRTN2

29 9N RIN 9

N 2D
The earlier division
says

We now deal only with
the estate of the Yavam
to which the ps 45 say
JIN NOINNT NN DN
Spw

MR M

NI 997
The earlier division

b undone

TheD2’ )2
must satisfy
the claims
of thep®D

Yevamos 37 - 8



